MIAMI-DADE

MIAMI-DADE COUNTY

COUNTY _ PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESQURCES (RER} Miami, Florida 33175-2474

BOARD AND CODE ADMINISTRATION DIVISION, T (786) 315-2590 F (786)315-2599

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

Designer Doors International, LL.C

702 Troy Street

River Falls, WI 54022

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product _
Control Section to be used in Miaini Dade County and other areas where allowed by the Authority Having Jurisdiction -
(AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Con‘rrol Section
(In Miami Dade County) and/er the AHJ (in areas other than Miami Dade County) reserve the right to have this
product or material tested for quality assurance puiposes. If this product or material fails to perform in the accepted
manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance,
if it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models H-3 / H-4 Insulated Wood Sectional Garage Door up to 18’-0” Wide

APPROVAL DOCUMENT: Drawing No. 1618, titled “18° Wide Hurricane Tmpact Wood Garage Doors”, sheets
1 through 7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated 10/21/2008, with last revision B1
dated 11/12/2014, signed and sealed by Warren W. Schaefer, P.E., bearing the Miami-Dade County Product Control
renewal stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County P10duct Control
Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model/series
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation instruction
drawing reference number, approval number (NOA), the applicable test standards, and the statement reading ‘Miami-
Dade County Product Conirol Approved’ is to be located on the door’s side track; bottom angle, or inner surface of a
panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,

for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section
of this NOA shall be cause for termination and removal of NOA. '

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by fhe

expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official. An original signed and sealed
company letter from Designer Doors, lnc. is required, proving that the Models H-3 / H-4 18’-0” Wide Wood Sectional
.Garage Door was purchased from them in order for this NOA to be valid on any job.

This NOA renews NOA # 11- 1006 04 and consists of this page 1 and evidence pages E-1.and E-2, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

: - NOA No. 14-1118.07
e rovE Expiration Date: March 18, 2020
- ApprovalDatc February 19, 2015
02 17—/20‘5 : Page 1




Designer Doors International, I.1.C

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED |

A DRAWINGS
1. - Drawing No. 1618, titled “18’ Wide Hurricane Impact Wood Garage Doors”, sheets 1
through 7 of 7, prepared by W. W. Schaefer Engineering & Consulting, P.A., dated
10/21/2008, with last revision B1 dated 11/12/2014, signed and sealed by Watren W.
Schaefer, P.E. .

B. TESTS “Submitted under NOA # 10-1119.02”
1. Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram on a Series/Model H2/4
Section, glazed garage door, prepared by Architectural Testing, Inc., Test Report No.
94833.01-201-18, dated 01/13/2010, signed and sealed by Joseph A. Reed, P.E.

2. Addendum letter to Test Reports No. 87472.01-201-18 and 87473.01-201-18 on
Forced Entry Test per FBC, FBC 2411 3.2.1, TAS 202-94, prepared by Architectural
Testing, Inc., dated 08/18/2009, signed and sealed by Joseph A. Reed, P.E.

“Submitted under NOA # 08-1224.07”
3. Test reports on 1) Uniform Static Air Pressure Test Loading per FBC, TAS 202 94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94

along with marked-up drawings and installation diagram of a Double Wide Hurricane
Impact Un-Glazed and Glazed Garage Doors, prepared by Hurricane Test Laboratory,
LLC, Test Report No. G507-0402-08, dated 08/21/2008, signed and sealed by Vinu J.
Abraham, P.E.

C. CALCULATIONS: “Submitted undérNOA # 08-1224.07”
1. Anchoring and stress calculations, prepared by W.W, Schaefer Engineering &
Consulting, P.A., dated 12/17/2008, signed and sealed by Warren W. Schaefer, P.E.

.02/’2/2-015 |

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 14-1118.07

Expiration Date: March 18, 2020
Approval Date; February 19, 2015




Desipner Doors International, LEC

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

QUALITY ASSURANCE ‘
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS

1. Notice of Acceptance No. 11-0624.01, issued to E.I. DuPont DeNemours & Co., Inc. for
their “DuPont Butacite® PVB Interlayer” approved on 09/08/2011, expiring on 12/11/2016.

2. Notice of Acceptance No. 11-0325.05 issued to Solutia, Inc. for their “Saflex ITIG” approved

on 05/05/2011, expiring on 05/21/2016.

STATEMENTS

1. Statement letter of code conformance to 2010 and 5™ edition (2014) FBC issued by
W.W. Schaefer Engineering & Consulting, P.A., dated 04/10/2014, signed and sealed

_ by Warren W. Schaefer, P.E.

2. Statement letter of no financial interest, issued by W.W. Schaefer Enginecring &
Consulting, P.A., dated 11/12/2014, signed and sealed by Warren W. Schaefer, P.E.

3. Asset purchase agreement dated 04/25/2014.

72 ,,/zms

Carlos M. Utrera, P.E.

~ Praduct Control Examiner
NOA No. 14-1118.07

Expiration Date: March 18,2020
Approval Date: February 19,2015




THESE DRAWINGS ARE APPLICABLE CHNLY TO THE PRODUCT[[DRAWN BY: CHECKED BY:
PECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY W.RM. WHS
D/0R INSTALLATION OF ANY OTHER PRODUCT NOR MaY |[Fior: BATE:

THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL 10/21/08
OF ANY PRODUCT NOT PRODUCED BY THE MANUFACTURER
ATED ON THESE DRAWINGS.

DETAIL ON SHEET 5 REO D TO OPERATE DOCR

— : °F [3 1/2"¢
. | GENERAL NOTES:

—r e 1. THESE GARAGE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED FOR
\ MAX. 25 3/8 DESIGN PRESSURES NOT TO EXCEED THOSE SHOWM IN THE "ALLOWABLE DESIGN PRESSURE
L—51" MAX, 52 1/2 MAX.--|———52 1/ 51" MAX ——I TABLE(S).

L
N

9" 1/24 /—SEE STORM POST TOP END INSTALLATION SPRING & MECHANISM AS

DATE
11/15/10
11/12/14

BY
WS
WWS

/Y ) . T0 30"

— t 2, QPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED &
$‘ % % INSTALLED TO TRANSFER WIND LOADS TG THE STRUCTURE,

. ; 3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS &
D= %’ _ SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR
S G SEE_STORM POST INTERMEDIATE | SEE_SUDE LOCK o WX 18
BRACKET DETAIL ON SHEET 5  DETAIL ON SHEET 6 > TO 22 3/8"

EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.
4, THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED &
SEE EDGE PROPOSED FOR IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN ]
—\. tl
HINGE , 7| Y R — ’
DETAIL ON

CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS TAS—201, 202 & 203 FOR
LARGE MISSILE IMPACT GARAGE DOORS,
SHEET 5 4 4)] (1) | “-seE DL Hince '€ MAX. 18"
i DETAIL ON SHEET 5| || T0 22 3/8

REVISION DESCRIPTION
A1 |ADD DUPONT BLAACTTE cLASS
B1 | MANUFACTURER MAME CHANGE

5. THESE GARAGE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANGE WITH AND MEET
THE REGUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH VELOCITY
HURRICANE ZONES (HVHZ).

6. IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE GARAGE DOORS.

7. ALL ANCHORS SECURING DOORS TQ PRESSURE TREATED BUCKS OR WODD FRAMING
SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING

H CHEMICALS IN THE WOOD.

s X " B. DETERMINE THE POSITVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING
M MAX. 25 3/8 THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND

f. ; = 10 29 1/2" VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH THE FLORIDA BUILDING

NC.

86" MAX DOCR HEIGHT

v .t CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED WHEN USED IN
\. = | =2 | l CONJUNCTION WITH LOAD COMB]NA'I’IONS SPECIFIED IN SECTION 2.0 OF THE ASCE 7
. STANDARD.

N ‘ _/ ~ 1 _ | /\— ‘ |[> |_ V172" 9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS
SEE DETAL 3 I& 04" —fe 947 __I SEE STORM POST BO'ITOM PRODUCT. O;ml'_l\glo LOAD DURATION FACTOR Cd = 1.5 WAS USED FOR WOOD SCREW

ON SHEET 4 END INSTALLATION DETAIL 10. Al WOOD MEMBERS OF DOORS THAT MAY POSSIBLY COME INTO CONTACT WITH

i : ON SHEET 5 MASONRY OR CONCRETE SUBSTRATES, ARE SUBJECT TO MOISTURE &/OR ARE SUBJECT TO
11/2" — 216" MAX. DOOR WIDTH 1 1/2" THE OUTSIDE ENVIRONMENT SHALL BE OF AN APPROVED DURABLE SPECIES OR BE TREATED

: I IN AN APPROVED METHOD WITH AN APPROVED PRESERVATIVE PER FBC SECTION 2326.
INTERIOR ELEVATION:;

MODEL "H—3" FULLY WOOD PANELED GARAGE DOOR ALLOWABLE DESIGN PRESSURE

SCALE: 3/8" = 1'-0” (ALL DOOR CONDITIONS)
(FOR STORED STORM POST LOCATION, SEE ELEVATION BELOW) +48/-65 PSF

702 TROY ST.

RIVER FALLS, Wl 34022
BO0—-241-0525

DESIGNER DOORS INTERNATIONAL, LLC

MANUFACTURER

(4 D.L.O. CONDITIONS SHOWN. MORE THAN 4
T — D.L.0.’S MAY BE PLACED ACCROSS THE DOOR IN
| /4 THE TOP OR TOP MIDDLE SECTION OF THE DOOR)

3
\

2 ,
/’ 52 3/4" |
= MAX. D.LO. /

18 FT. WIDE HURRICANE IMPACT WOOD GARAGE DOORS

4

96" MAX DOOR HEIGHT
PHONE: 561—744-3424

NOTE: ALL REMOVABLE STORM POST
CONNECTORS SHALL BE LINKED TO THE
DOOR OR THE DOOR TRACKS SUCH THAT 7
WHEN REMOVED, THEY WILL NOT BE LOST RRSAASS | nagcr
OR MISPLACED & Wikl BE STORED IN AN RSN N
| I ACCESSIBLE LOCATION.

748C 150TH COURT NORTH

PALM BEACH GARDENS, FL 33418

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)

FORAWING TITLE

&
w° . CONSULTANTS

5

SCHAEFER, P.E.

I x PRODUCT RENEWED
L 2 complying with the Florida

|[> ‘ ' ID | ' Building Code
216" MAX. DOOR WIDTH I Acocptancy No

INTERIOR _ELEVATION:

ESOT%QN')N STORED  MODEL "H—4" PARTIALLY GLAZED GARAGE DOOR NI Peodadt ool
SCALE: 3/8" = 1'-0"

(FOR DETAIL NOT SHOWN, SEE FULLY PANELED GARAGE DOOR ELEVATION ABOVE)

W.
P.E. NO. 4413




216" MAX. DOOR WIDTH 1 3/8” THK. WOOD FRAME MEMBERS (5 1/4”
WIDE AT VERTICAL PERIMETERS &
o s e o g g2 5 1/4" —| |— INTERMEDIATES; 5 1/8” WIDE AT TOP &
l | BOTTOM HORIZONTALS; 2 1/2" WIDE EACH
. SIDE OF HORIZONTAL PANEL SEAMS)
4 41/ LS 1/4" 5MM EXTERIOR GRADE PLYWOOD (INTERIOR
30° v FACE & EXTERIOR FACE) SECURED TO THE
o e PANEL WITH URETHANE ADHESIVE &
s | 1 \_ STAP%SE/Sa YSTYRENE INSULATION
o ] 1 3/8” POLYSTYRENE INSULATI
T oo ,!58/5' FACE GRAIN TRIM BOARDS el -
@ MIN. 3/4" THK. RAISED
s = 7 PANEL WITH 3/4" THK.
S W* - FACE BOARDS. SECURED
% M N : N - TO-PLYWOOD-WITH — - ——— e e
= 1022 /8 VARIES \—DOOR FACE URETHANE ADHESIVE &
o | STAPLES.
o
25'%'5' TYP. RAISED PANEL DETAIL
™ SCALE: N.T.S.
29 1/2 ]
t L 5 1/4"
EXTERIOR ELEVATION:;
RAISED PANEL GARAGE DOOR
SCALE: 3/8" = 1'—0"
(NON—GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)
216" MAX. DOOR WIDTH
| 1/4" o 1/4" 5 1/4" | |—
MAX.
T0 ’
30"
&
o
T0 22 3/8°
o
S |
()
[4n]
= \\
=
o
o

MAX,
25 3/8"
0

w; % \\\ N\
A A\

29 1/2"

\—5/8" MIN. THK.

WCOD TRIM

MEMBERS (5 1/4”
WIDE AT VERTICAL

Le 1/

EXTERIOR ELEVATION:
V—GROOVE PANElL GARAGE DOOR
SCALE: 3/8" = 1'=0"

("V--GROOVE MAY RUN IN ANY DIRECTION)
(NON-GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)

DOOR FACE—/

PERIMETERS & PRODUCT RENEWED
HORIZONTAL TOP; 8 MIN. 9/16” THK. V—GROOVE WOOD WITH MIN.  us compiying with the Forids
1/2" WIDE AT 3" WIDE FACE REVEAL. SECURED TO PLYWOOD Building Code
HORIZONTAL WITH URETHANE ADHESIVE & STAPLES. - Acceptance No [4--
BOTTOM;) Expirstion
By
TYP. V—-GROOVE PANEL DETAIL Mj Product Control

218" MAX. DOOR WIDTH

l

DRAWN B

W.RM.

CHECKED BY:
WS

PLOT:

1=32

DATE:

10/21,/08

96" MAX DOOR HEIGHT

MAX,
25 3/8"
0
307

1

MAX. 187
TO 22 3/8"

| < <
] s
MAX. 18"
T0 22 3/8°

r\—DOOR FACE

2" BLENDED
/ BOTTOM BOARD

SMM EXTERIOR GRADE PLYWOOD (INTERIOR FACE & EXTERIOR FACE)
SECURED TO THE PANEL WITH URETHANE ADHESIVE & STAPLES

1 3/8" POLYSTYRENE INSULATION

EXTERIOR ELEFVATION;

FLIAT PANFl GARAGE DOOR
SCALE: 3/8" = 1'-0"
(NON—GLAZED DOOR SHOWN, GLAZED DOOR IS SIMILAR)

1 3/8" THK. WOOD FRAME MEMBERS (5 1/4” WIDE
AT VERTICAL PERIMETERS & INTERMEDIATES; 5 1/8"
WIDE AT TOP & BOTIOM HORIZONTALS; 2 1/2" WIDE
EACH SIDE OF HORIZONTAL PANEL SEAMS)

SMM EXTERIOR GRADE PLYWOOD (INTERIOR FACE
& EXTERIOR FACE) SECURED TO THE PANEL
WITH URETHANE ADHESIVE & STAPLES

1 3/8" POLYSTYRENE INSULATION

_——MIN. 1/2" THK. PRIMED MDO PLYWOOD OR
EXTERIOR GRADE MDF SECURED TO
PLYWOOD WITH URETHANE ADHESIVE &

STAPLES
TYP. FIAT PANEL DETAIL
SCALE: N.T.S.

1 3/8" THK. WOOD FRAME MEMBERS (5 1/4" WIDE AT VERTICAL
PERIMETERS & INTERMEDIATES; 5 1/8" WIDE AT TOP & BOTTOM
HORIZONTALS; 2 1/2" WIDE EACH SIDE OF HORIZONTAL PANEL SEAMS)

SCALE: N.T.S.

DATE

BY

REVISION DESCRIPTION

NG.|.

DRAWING (TILE

18 FT. WIDE HURRICANE IMPACT WOOD GARAGE DOCRS

MANUFACTURER

702 TROY ST.

DESIGNER DOORS INTERNATIONAL, LLC
RIVER FALLS, Wl 54022

800—-241-0525

CONSULTANTS

7480 150TH COURT NORTH

W. W. SCHAEFER ENGINEERING
& CONSULTING, PA. (CA 6809)
PALM BEACH GARDEWS, FL 33418

PHONE: 561=744=3424

SCHAEFER, P.E.
NOD. 44135

o2 WARREN W

SHEET NO.

2

7

oF




DRA\I:;NR 3\'-. cnsrﬁo& w:—l
ETERIOR SEE INSTALLATION DETAILS ON SHEET 6\/_\ T
: SEE- SECTION CONFIGURATIONS ON SHEET 2 N
/ FOR MAKE—UP OF PANELS 5 1/4" (TYP. ALL VERTICALS) / \ i |
AR N —— R N — I -
e P A Y, 'e 1'1'1"":1’1’1'1'1'1'1‘:'1'1'1"'111"'1’ :—Fé'f: \‘ % / l >
- \
jD SECTION /7 D\ \@ S ]
O
STORM POST (REF.) SCALE: 1/8 FULL \3/ STORM POST (REF.) &
(&3
\ 2
=z
e - o
EXTERIOR - O \ 8
_ N EXTERIOR S N
3558%?SL42— % [ EXTERIOR R @) / g
- X SEE DETAIL 2— ' [~ o
i | \_ j ON SHEET 4 M~y 4
l\ _ ! APPROX. R = 14 3/4” 3 | X — \ i)
gt e \ | , APPROX. R = 14 3/4 a2
1 y APPROX. R = 14 3/4" — x| 2 o
Uil FlY S| 2 =38
T 24" MAX N 2l & 7=8
. B L
LN . 17 kI TWO(2) BOLTS AT TOP w| 550
(il MAX. |l ——(25) LOCATION; ONE(1) AT 2| = Edy,
! e I /_@ 30" EACH OTHER LOCATION Sl @ Ng |
4l ! \—ske pETAL 1 (I — |, al 8 R.0S
I | ON SHEET 4 i ! sl u
\E ) ' PR \_see oemalL 1 18 1/2" MAX I{/—@ f ﬁﬁ =
- LBl  on seeeT 4 /2" WA Iy Q2
X o
% | b 1 = |25
. ] l Ll
— ALL SEAMS) i HS| 28
~  >—>5" (TYP. , ¥ 24 1/2" MAX, \ gl 20 o
— ALL SEAMS) 18 1/2" MAX. i Mﬁ‘%zc. 2| Ug.3
| PRODUCT RENEWED 1y g:%@
complying with the Fiorida || © >
SEE SECTION —_ > / O Building Code o = | Yalkgy
CONFIGURATIONS ~ | Q — Acocptance No (/110,07 .| BsB81
ON SHEET 2 q B SEE SECTION —_ : 9 E"’""% ol B
FOR MAKE-UP (o R CONFIGURATIONS . . By 2 li15' T
OF PANELS i ON SHEET 2 \ il 17" MAX. | Miamf{ [Fade Prodict Control EQm g8z
| 12 3/8" MAX FOR MAKE-UP "~ |l . I £ E%3
OF PANELS 4 () 1 /—@ 24" MAX. ¢ |g=B'7
S L 35
12 1/4” 2l ! /—(:) ¥
| ‘ ] 177 7] I T =8
5 1/8" (I l | 1 I J;{ o2
5 1/8” J u 1 3/8" J L___/ )
SECTION /&7 SECTION /& SECTION /&
SCALE: 1/8 FULL \3/ SCALE: 1/8 FULL \ 3/ SCALE: 1/8 FULL \3/ “ﬁ“‘gqsa”& 8
(FULLY WOOD DOOR) (GLAZED DOOR)

" SHEET NO.

OF




l ° MIN.

7/8"

) EXTERIOR | ) A] , SEE GLAZING \/ //@
I VA ~—6 1/8" MIN. —| NV DETALL ON |
MIN. IRIM BOARD 0 47/ TRIM BOARD TO N . SHEET 5 N ,;
MATCH EXTERIOR MIN. MATCH EXTERIOR |
PANELING /| PANELING \f \ ) N R
SEE GLAZING \ — 1’
INTERIOR FRAME
VSER DETAIL 20»: SHEET 5 N D\\ : AN ] N STRUT 1S
_21/2 Y .
17 MIN, = N 4172 i OVER HINGE
>/\ ANA C.|1 3/; \{-\ A 21/2" N %‘: N %| AS SHOWN
- AT GLAZED
SEE A — i - -, ///{ o / / . \|\ \i\ I ® | \i\ - o \l SECTION OF
INSTALLATION = > < J NS S Y| o) 2 12" /D’_C% DOOR.
DETAILS ON INTERIOR FRAME —5MM_EXTERIOR N (e N k
SHEET 6 FOR MEMBER PLYWOOD (2 LAYERS ~k 156 S} ~®
DETAL OF | GLUED & STAPLED X | &) P4 T
! TO FRAME) CHoRE /@ @ /_@
NOTALLATION \ \—STRUT BEYOND (REF.) \ N |
5MM EXTERIOR PLYWOOD (2 LAYERS N }
GLUED & STAPLED TO FRAME) SECTION N ﬁ/ o] Y 2. )
SECTION /5 SCALE: 1/4 FULL -\ 4/ .D L paneL N D L PANEL
SCALE: 1/4 FULL \4/ { ST (REF) L, © : (REF.)
o "V
DETAIL 1 DETAIL 1
A (UN—GLAZED CONDITION) (GLAZED CONDITION}
(2
N
N PRODUCT RENEWED
N a8 complying with the Florida
Building Code
Acceptance No [4-(/18.
Expiration
g B’.;#
A SEE GLAZING —N Mi Produc Control
| DETAIL ON
1N SHEET 5 1 | /®
TS ; PANEL Se—LpaneL
N »\/ (REF.) \/ ! (REF.)
DETAIL 2 DETAIL 2 [(D :

(UN—GLAZED CONDITION)

(GLAZED CONDITION)

W.RM

CHECKED BY:
W.W.5,

Iimwn BY:
FLOT:

Tred

DATE:
10/21,/08

DATE

BY

REVISION DESCRIPTION

NO.

ITLE

18 FT. WIDE HURRICANE IMPACT WOOD GARAGE DOORS

702 TROY ST.

DESIGNER DOORS INTERNATIONAL, LLC
RIVER FALLS, Wi 54022
800-241-0525

MANUFACTURER

|

& CONSULTING, P.A, (CA 6809)
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

W. W. SCHAEFER ENGINEERING

CONSULTANTS

DRAWING NO. [R

1618

B

| waRREN

SHEET NO.

oF 7




22 0 ) MIN. 2500 PSI R S
5/16" X 1 1/2 CONCRETE 1/4” CONCRETE SCREWS I =
N VAR . LAG BOLTS (1 3/8" SUBSTRATE BY (1 3/4" MIN. CONCRETE
o ~. EMBED) (4 PER OTHERS : : EMBED & 2 1/2" MIN. w
) >{@ BRACKET) /_@ CONCRETE EDGE 8
O | Z z DISTANCE) (4 PER
OR SPT“;NAL l‘”OOD“f\ 7 BRACKET) CONCRETE &
® LATE. (THICKNESS SCREWS SHALL BE ELCO
AS REQ'D) 35 35) ULTRACONS, MW z
54 52) RAMSET/RED HEAD E
o) fo @ o WOOD SUBSTRATE BY 1 TAPCONS OR HILTI B
. KWIK—CON Il (HARDENED
OTHERS (MIN. 1 1/2 32 STEEL OR S.5.) z
l THICK & G=MIN. 0.55) e 2
b 5 TO BE DESIGNED & & &
] SECURED BY OTHERS AS %) -
REQ'D TO SUPPORT END z
o LOAD FROM STORM POST.
O
@) 7 32 =
! S 4
Q N ol 2 o
<{(2) MIDDLE HINGE DETAIL Ele o
. < | -
| - 31/16" —® 2| 2h0Q
[ | " ] E >_30|
EDGE HINGE DETAIL ¥ 2l Zeuy
S| @' do
] X o= |
A O oo
NANANANA VNN 8| 8 "xwx
(o]
\@ = i E
2t STORM POST TOP _END INSTALLATION DETAIL /\/ 5 [EE
DOOR—/ ; (INTO WOOD SUBSTRATE) STORM POST TOP END INSTALLATION DETAIL < gg
RAIL S (INTO_CONCRETE_SUBSTRATE) = [Ea
CLEVIS PIN CABLE RUNS . w 2
\@ THROUGH HOLES IN THE 1 1727 BRAD NALS =
CLEVIS PIN RAGKET  STRAP, THUS SECURING WITHIN 1 1/2" OF S| 02
ASSEMBLY THE PIN TO THE STRAP SEE GLAZING ENDS & MAX. 3" O.C. i ég Y
: I# DURING REMOVAL. [~ » » =2 :
el (19 ING R OPTIONS BELOW 7/16” X 1" GLASS PRODUCT RENEWED T | Y83,
. POST STOP (DOUGLAS FIR) ¢ ing with the Flocs S<E S
STRAP 1S complying Flaida | W | © . opy
STRAP GE 1200 STRUCTURAL 7/16" Building Code o | <257
CABLED TO THE = SILICONE EA. SIDE OF erN e Ameo%ﬁ@d% = | Dakdy
GLASS . - 881
STORAGE WiTH i/ ®\i G i o El E2:4z
POST WHEN _ TRIM BOARD TO ] ! P o | 2535y
" REMOVED. POST (1 | T MATCH EXTERIOR u , M Coatrob 14 = E§8 §§§
(28) MIN. 2500 PS I/ PANELING ————=— SMM EXTERIOR PLYWOOD e |53
CONCRETE | M (2 LAYERS GLUED E |g®° ¢
: . g%gg;gATE BY | \ g . [EXTERIOR| & STAPLED TO FRAME) S O
L CHEMREX 948 ADHESIVE
FRAME MEMBER (CONTINUOUS)
PUSH NUT . g 13/8" MiN.
RETAINER " " ,
POST IS CABLED TO THE DOOR TRACK FOR 9 BE'ELPL ﬁé{fﬁORxpr 1/2 21/,
STORAGE PURPOSE. ONCE POST IS REMOVED PLACEMENT MIN.
FROM THE DOOR, THE POST, STRAP & CLEVIS GLAZING DETAIL 2%
PIN ARE STORED NEXT TO THE DOOR. STORM POST BOTTOM END INSTALLATION g
GLAZING OPTIONS:
(1 BRACKET IS LOCATED AT EACH DOOR PANEL SEAM PIN IS SECURED TO THE POST FOOT ANGLE VIA AN/0.09 ¢ » [ ORAG WO TR
: , THE PUSH NUT RETAINER SHOWN SO PIN STAYS AN/0.09 SOLUTIA SAFLEX IliG PVB/1/8" AN) 1618 | B
LOCATION; 3 TOTAL PER BAR) WITH THE POST DURING STORAGE. OPTION 2: 3/8" LAMINATED GLASS (1/8” SHEET NO.
B AN/0.09 DUPONT BUTACITE PVB/1/8" AN) 5 o 7




MIN. (4) 2X_ STUDS (SYP WITH

3/8” DIA. RAWL

S.6.=0.55 MIN.) REQUIRED BY OTHERS ) POWER—BOLT, RAMSET RED  _, | 2 1/2"|_ o~ 9719 — ] T
' —=| t=—3/4" MIN. HEAD DYNABOLT OR HILT| MIN. 1 6,683 _ £0.438
5/16" LAG BOLT WITH MIN. 2 1/2" v —— A KWIK BOLT 3 EXPANSION I 5 : ] &
FRAMING EMBED TO PENETRATE FITHER OF ANCHOR (MIN. EMBED INTO 1.7
THE FRAMING STUDS (PREDRILL 3/16" DIA. % SUBSTRATE = 3") ———~__ _f_ T "5
HOLE IN FRAMING ]
) /_‘/ OPTIONAL TRIM PIECE ) ne SR 0.531 z
MIN. 3/4" X 3 1/4" TRIM PIECE SECURED . §.a NYLON ROLLER WITH &
T0 WOOD FRAMING WITH NO. B BOX NAILS q Be i DAAETE MUSTH |4 S E S AIS|_STEEL ROD z
WITHIN 3" OF ENDS & MAX. 12" 0.C. % i ] et b 0.250 &
77— Saxa /‘/ S ) T[ THICKNESS = 20 GA %
A 5 = . —0.500 (|2
ST s >< S—DOOR SHALL EXTEND (0.034" FINISHED) }_ |
P - — MIN. 1/2° BEYOND 8 3
A o S—— ‘:ﬂl STUCCO EDGE S
.| )
| | =
o 3,000 ——= K
I ] <
. Z o
| INSTALLATION DETAIL @ 3~ REINFORCING STRUT 0 5 g
SIDE LOCK DETAIL INSTALLATION DETAIL DIRECT TO_FILLED BLOCK § < =50
(MAY BE LOCATED AT EITHER DIRECT TO WOOD FRAMING OR SOLID CONCRETE £0-188 MIN. " E Z§g
SIDE OF DOOR) , - : , ol Eo !
3/8" DIA. RAWL Sl ZRuy
| ER—BOLT, RAMSET T 4
HEAD OYAABOLT OR HILIT \ S al 3| £ ozl
MIN. (4) 2X_ STUDS (SYP WITH —=] |=—3/4" MIN. KWIK BOLT 3 EXPANSION - -2 1/2 500 —- ,‘@ 500 ﬁ"/ 0.500 al §e+8
: — MiN, J Q| & xo
S.6.=0.55 MIN.) REQUIRED BY OTHERS Y gﬂgg?RiT(EM'f' %’BED INTO Y & I aT0.500 €]l « =
f = MATCH DRILL~ | o N c Bz ©
5/16” LAG BOLT WITH MIN. 2 1/2" CONTIONUOUS NO. 2 HOLES FOR QRS
FRAMING EMBED TO PENETRATE EITHER OF N\ SOUTHERN PINE P.T. %9% CONCRETE BLOCK 4.000 s0RM POST o 3.000 o §E3
THE FRAMING STUDS (PREDRILL 3/16” DIA. g OR MAHAGONY SPACER GE!Q M MIN. 2000 PS BRACKET 4 = go
HOLE IN' FRAMING) ) MIN. 5 1/2" WIDE VIN. 2500 PSI SOLID 1 + > 0500 Y E—
pu : OPTIONAL TRIM PIECE CONCRETE . 4500 — S| o2
MIN. 3/4" X 3 1/4" TRIM PIECE SECURED 7< T x| 28
TO WOOD FRAMING WITH NO. 8 BOX NAILS NOTE: el E,. 2
WITHIN 3" OF ENDS & MAX. 12" O.C. / z 1 BE MIN. 2500 PSI @ ADAPTER PLATE T Eﬁg%
, ) Y Wl 2823
77 7 77 \ G ———— T e £ | 92 ggd
AN N . ~( A A - —R=0.48 . o .éﬁr"‘
7 | | woob wewaer ] 000k spaLL w220 @ o M
~ = < 5 < T~ 0 m LIJZ g 0
D WIDE STUCCO EDGE » - |53 .35
4 . EPEES
= ~
22125 2 |28 %
= |2
; T 3 £ |3z
INSTALLATION DETAIL n -
1.300 u
. OR SOLID CONCRETE 20 GA—{ 2 EE
) ] e é%
PRODUCT RENEWED 0.105 I—<— =
as pamplying with the Flarida _.—l 2.625 i !
BmldthCnde T2 N0
w (4) SINGLE PIN HINGE g
=
% — DRAWING NO. | REV.
Misni s 1618 [ B
SHEET NO.
g o 7

DRAWN BY:

W.RM,

CHECKED BY:

WW.S.




£

fTEM DESCRIPTION

l

MANUFACTURER/NOTES

CHECKED BY:

- 11.000 - WARM W45,
PARTS & HARDWARE A 1_500 — -] [—t— . PLD'I':I= DATE:
1_[RoLLER NYLON W/AISI 1045 SIL. ROD ~| 2.416 048 ~—=1—1.780 Tl o0m e 0/21/08
2__|3” REINFORCING STRUT GALV. B0 KS| STEEL 0.105 ———“—-— ST 0.680 - : .
3 [ADAPTER BRACKET MIN. 3/16" A—36 STEEL N %
4 |SINGLE ROLLER HINGE GALY. 36 S| STEEL 0 N
5 |DOUBLE ROLLER HINGE GALY. 36 KSI STFEL e @0 -
Li O
6 |BOTIOM CABLE BRAGKET GALY. 36 KSI STEEL —L %~
7 [ADJUSTABLE TOP BRACKET GALY. 36 KSI SIEEL = =
[{ 8 |TRACK ANGLE (TAPERED) GALV. 33 S| STEEL 3 g
9 |VERTICAL TRACK (HORIZ. TRACK SIMILAR) |GALY. 33 KSI STEEL } P~ i =
10 [HORIZONTAL REINFORCEMENT ANGLE 27X 2 X 13GA 1.300 A
GALY. 33 KSI STEEL . Y ]' —=! 2,000 S
11 |STORM POSY 173/47 X 1 3/4° X 0.105" THCK| 20 GA. <_+ . — 1.700 o
GALV. 50 KSI STEEL A 0.500 I 1648 TRACK ANGLE 2
12 |STORM POST TOP_BRACKET A-36 STEEL — ] _ 2
13 |STORM POST INTERMIEDIATE BRACKET __ |A—36 STEEL 1.50 0.740 @ 0=0.47 r 0105 # —{1.000 -
14 |STORM POST INTERMIEDWATE A—~36 STEEL OR S - S 2
BRACKET STRAP 1.80 —=] 2625 |=— D=0.35 f *
15 |STORM POST BOTIOM END ANGLE. A—36 SIEEL ' ' * ! o
16 | POST CABLE #0.125" GALV. OR S.. ' b
17__[SLIDE LOCK STEEL 1018 ZINC PLATED @ DOUBLE _PIN HINGE J | l—-— 0.290 _1 t o | 0079 -
MISCELLANEOUS FASTENERS 0.740 — _+ 'l 4 000 1.500 o MN _i
20 [1/4 X 1 1/2 HO( WASHER HEAD LAG SCREW ALGNED WITH HINGES PER ELEVATIONS 2.97 4.540 : c: — 0 § o
21 |3/8-16 BOLT 2 AY EACH TOP BRACKET — o} o~
72| /i 5/ R T o i (oo o s | 300~ (5)BOTTOM CABLE BRACKET L =2 2,
23 174 X 1 172 HEX WASHER HEAD LAG SCREW 8 PER TOP BRACKET —%\ :_ : -l 1695 1.000 Q 3 TR
24 11/4 X 1 1/2 HO. WASHER HEAD LAG SCREW 4 PER HINGE ) 20563 : W E )_go
25  |1/4-20 X 5/8 RIS HECK TRACK BOLT SPERTRACK |k ONALS O S-D34 LYD& : o I 0.875 Iz E o _l
26 [1/4 % 1 1/2 HEX WASHER HEAD 1AD SCREW oPERBOTOMCEEBRAKET | | 1 NSO | L. | - VA e ' R=0.31 | = P_:u');
27 [1/4 % 1 1/2 HEX WASHER HEAD LAG SCREW 2 PER STORM POST INTERWEMATE ERAGKET @l . @/_ 0.89 <| o oo
28  |40.03t X 2 1/2 CLEVIS PIN/CABLE ASSEMBLY 1 PER BRACKET: LcMASTER CARR §38416AD17 o ,_\% ‘ o o . 4] % SE C|’
30 . |5/186-18 X 3/4 CARRIACE BOLT 2 PER BOTIOM BRACKET COMNECTION ] Q . U — 0o O~ _O
31 |5/16-18 SERRATED FLANGE NUT 2 PER_BOTIOM BRACKET CONNECTION 5 \Fe0.19 7/ ] @ TRACK gl o e o
32 [1/27 % 8" crRRUGE BOLT (GRABE 5) 1 PER STORM POST TOP ASSEUBLY = LENGTH = AS REQ'D TC MEET DOOR - — 2|l =
33 [1/2" SERRATED FLANGE NUT 2 PER_STORM POST TOP ASSEMBLY } HEIGHT & END ANCHOR REQUIREMENTS 0.570 0.160 . o
34 |1/4-20 X 3/4" F.H. MACHINE SCREW 2 PER ADAPTER PLATE _L_ ’ _E ) (&) 5 0]
55 |1/4-20 X SERRATED FLANGE NI 2 PER ADAFTER PLATE & & & @ @ STORM POST X len
36 [e1/2" % 3 172" clevis P 1 PERSTORM POST BOTTOM END ANGLE 0.469 m--l T - - i
37 |1/2° PusH WUT RETAMER 1 PER BRACKET; McMASTER CARR §98807A034 4.700 I 0.250 # I: g
38 |1/4 X 1 1/2 HEX WASHER HEAD LAG SCREW 4 PER SUOE LGCK . 2375 = —
(7) ADJUSTABLE TOP BRACKET * 5 o 3| o2
PANEL NOTES:; | % | 2000 | . g EC o
1. HORIZONTAL & VERTICAL FRAME MEMBERS ARE EDGE COPED, i 1 =——— — 3000 1 T| LS g3,
BUTTED TOGETHER & GLUED WITH TYPE 1 WOOD GLUE. IN ADDITION, (e~ 3.750 —= (0 o 5,9
THE VERTICAL MEMBERS ARE SCREWED TO THE HORIZONTAL WTH 2 1120 | 2.000 STORM POST STORM POST TOP BRACKET ol <0l
NO. 8 X 2" SCREWS ANGLED FROM THE BACK FACE OF THE DOOR. T 0116 BOTTOM END ANGLE @ | o 3%
2, Smm PLYWOOD IS STAPLED TO THE FRAME WITH 18 GA. X 5/8" - } | | E| BY -5z
X 1/4" STAPLES AND GLUED WITH DEGABOND 948 URETHANE ~ 7.250 ™ : | o | 25850
ADHESIVE OR EQUIVALENT. 4 — U2 o
3. THE EXTERIOR PANEL/STRIPS ARE ATTACHED TO THE 5mm 1osoll © M 1496wl 3307 | r 0.984 i %“’% g3%
PLYWOOD AND FRAME WITH 18 GA. X 1 1/2" X 1/4” STAPLES AND | n| INTERMIEDIATE BRACKET l { 2 138 &
CHEMREX 948 URETHANE ADHESIVE. f —-— ] 1.800 STRA o | ! 5 Bz
4. EXTERIOR FINISH WOOD (PANELS/STRIPS) USED IN TESTING WAS ——P i _f
NO. 2 WESTERN RED CEDAR WITH A SPECIFIC GRAVITY OF G = 0.32./\ STORM POST (WIDTH = 0.750) 0.157 "
OTHER WOOD SPECIES APPLICABLE FOR USE WITH THIS PRODUCT AR f -
THOSE WITH A SPECIFIC GRAVITY OF 0.32 OR GREATER. INTERMIEDIATE BRACKET - 7.087 E:J"ﬁ
5. ALL INTERIOR FRAME MEMBERS SHALL BE NO. 2 DOUGLAS FIR 0.472 - - I 0.472 Eg
WITH G = 0.49, ) ’ 56
6. IT IS THE OPTION OF DESIGNER DOOR TO INCORPORATE AN PRODUCT RENEWED —fo 000 O]¢O.394 * NG
INTERIOR FINISH FACE ON ANY DOOR. THIS FACE SHALL BE EQUAL ut_u_:plyl:;dﬂnhe Flurida T _ _l L
TO THOSE EXTERIOR FACES APPROVED PER THE DETAILS ON THIS Builing ot i 111 = o [l s
DRAWING AND BE SECURED TO THE DOOR IN THE SAME MANNER AS fooprinco 20 S / N . ::
THE EXTERIOR FACE. THIS INTERIOR FACE SHALL BE AN ADDITIONAL < < Thiy T =
LAYER AND SHALL NOT REPLACE ANY LAYER SHOWN IN THE DETALLS By — 0.551 TR ————
ON THIS SHEET. ALSO, ALL HARDWARE LAG SCREWS SHALL BE M Product Comrol [oodoo0 0.965 1618 | B
LENGTHENED TO MIN. 2 1/4" TO ALLOW FOR THE ADDITIONAL (jLJ SHEET NO.
THICKNESS OF THE ADDED INTERIOR SKIN. $0.276 (17) SLIDE_LOCK 7 o 7




